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OHIE =4 £EAA 263, 00024 *37H A 789
OXEHE ®I|&H| JulfiE=tes
360,000 %122 4,320
OQHM B 24| 2,200
OBHXI & 24 Ab 80,0002 %501 400
0S4 160,0002 %501 800
ooHEZIR|2E P 1,000,000& 1,000
02 222 110,900 102,500 8,400
o222 2 HAl 104,400
02y £ ®MIIea 1,800,000 % 122 21,600
0JI2E ®IIRS 1,800,000&% 122 21,600
0Z&XY MIIR3 2,100,000 %12 25,200
0ZEIE ®IIR2 700,000 * 122 8,400
024 M3 700,000 %20 A* 122 16,800
OXISMIAAIAE &)
900,000 122 10,800
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chel:

stfat okt
S2AELE 2 AENLAS
22 N2ONEAS (SSENLAMSSESIH)

SA B E(BH) - HRAY - BES Abo Gl HIDS2
OJN22A =M 2 Bass
6,500,0002! 6.500
401 AIE2HIZ 200t 1,044,748 1,044,949 A201
01 AlZH] 1,041,000 1,041,200 2200
OABI=TAIE S22
2,500,0002* 10742 25,000
OXIBHZTAIE SXE4 L AIS22|
5,000,000 %57H A 25,000
OFIISAAIE S22
5,000,000 21*67H A 30,000
OXZAIE SXIzel|
1,40021%25,000= 35,000
O&X =X2eld| 4,000,000/ %1004 A 40,000
Obfj2z & 2e3 HA
3,000,000 x3IH A#23 18,000
OS9BLE AR 263 HA
500, 0002671 A %23 6,000
OSoBUE SBAIL(ZR, AR g2
S) B2 1,000,00021+67H A*23) 12,000
O=9B2E X518 SAZel L A
1,50024%200,000= 300,000
O=o/22E ZAFMR L ZHD|
1,5002%200,000 300,000
OREX AN L S22
150,000, 000! 150,000
ORCIZE B4 100,000,000 100,000
03 Al&=CHH] 3,748 3,749 A
OFSEHSABBR| ALY AlLE
CHBI 1,041,000, 0002 *0. 36% 3,748
MR F SIS UK T (FEHAIY) 300,000 250,000 50,000
= 195,000
— 105,000
401 AlA2HI2 204y 300,000 250,000 50,000
= 195,000
2 105,000
01 Al&H] 300,000 250,000 50,000
OMET ST S AR R T AL
300,000, 000%! 300,000
= 195,000
— 105,000
M Eo|82 251 ZHE REAIL(OIEHEAIA)( 400,000 0 400,000
SEIED
= 260,000
2 140,000
401 AlA2HIZ 204 400,000 0 400,000
= 260,000
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HM: SO|SBAE BETINLAY
CHRl: ZERTRNSAIR (LN LA S S5 H) (Ctel: XM 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 140,000
01 Al&H] 400,000 0 400,000
OSo|22 SFZHE RSALA(ISHE A
&) 400,000,000 400,000
[ 260,000
= 140,000
SIIOEFAIASE T AlM 242 23,600 23,600
201 L2 3,600 3,600 0
01 AF222IHI 3,600 3,600
OBIUATAAED 29 A2E & ¢
3,600,000 3,600
401 AlEH| 22 OHH 20,000 20,000
01 Al&H] 20,000 20,000 0
OBtUAZTAAED 2F RAL4 L 22|
20,000,000 20,000
SHUTIC SR 2| S (SYNLAILSES) 759,473 826,218 A6, 745
[ 130,000
= 629,473
sl 2| 559,473 426,218 133,255
101 Q124 258,043 252,238 5,805
M IIHR22IEES 258,043 252,238 5,805
OF2a 22 212,523
0oz 78,8802 %601%0622! 124,000
0=Xt==< 78,880 +601x502! 24,611
e ] 78,8802 x621x30 2 *150% 21,298
0 Xt 78,8801 %x601%x 152! 7,100
0=2%= 177,006, 7202 %4 . 5% 7,966
0HLEE 177,006, 720243 .545% 6,275
0J1RLE 6,275,00024x12.81% 804
01E=ZSH 177,006, 72024 %1.75% 3,098
0OaIEE 177,006, 72021, 0% 1,771
08/=2 2,400,000 +60! 14,400
0N EHH(ESHET S HI=H])
200, 0002%60! 1,200
O&%)| 52 22| 24,673
0oz 78,8802 *401x60L 18,932
0FXt==g 78,8802*x401+8 2,525
0=0I3 21,455,3602 %4 . 5% 966
0HE=2S 21,455,36024%3.545% 761
RIRYEE 761,0002%12.81% %8
01E=E 21,455,360 %1.75% 376
OMTHES 21,455,360 1% 215
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CHel: SHETIIE AR 22| 2 (DEINLAIISHS| ) (Chol: ®i2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0O BAH|(BS AT S MI=HI)
200,000 %401 800
OLAIAIE QIR 20,847
0X3I8 S 22| QIAHHI(BE2ZE)
86,8622 %421x60L 20,847
201 L2 A 205,830 147,380 58,450
01 AF222IHI 88,428 65,300 23,128
OFA L YA=E 7
250,000 128 3,000
Ol HE 2 10,550
WeIgS PN 15,0002%1509 S 2,250
0FURE 2,000,000 2,000
=423 26, 25024 x20 Al 122 6,300
OQ2sEal 452 2,150
0 CEtS 25,000 21%50A¢ Xt 1,250
0=SHE X 30,0002 *30AH Xt 900
O=4a ARZ2 ME 5,000« 124%H* 122 7,440
Osgd d+% 74 20,000,000 20,000
O&22 S 24H| 10,000,000 10,000
OLIOIAHOIHE(F) Mot 42
666,6602 x 122 8,000
0824 $EAUA 242
300, 0002 %37H 2 900
O] 420,0002%53] 2,100
OFRSAE 72 300, 0002 %2JH 2 600
Oti%=X 23 HA
500,000 %57 A *13] 2,500
OFIIQHMBR| LU 248
304,000 128 3,648
OABOIN2I2| ADHE 42
160,000 128 1,920
Ol ¢xt=z 27,000 +30CH* 12 9,720
OulofH & Al2D| HA
100, 0002 *59H 5,900
02 2229 117,402 82,080 35,322
02222 2 MAl 117,402
0&II22 9,313,500 %12 111,762
00IHYR= 50,0002 % 12 3,000
&Gt E AMEE 100,000 * 12 1,200
0x3l2 222 ¢zt
900 *400L*43] 1,440
206 XHEH| 1,600 1,600
01 XH2H] 1,600 1,600
OZALS)| SHYAE(AS2 HIEZE)D
s 800,00024%235] 1,600
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SA - EHH - SR(E) - HRAI - BES Gl imE=T
401 AIEHI L2 0HY] 90,000 25,000 65,000
01 Al&H] 90,000 25,000 65,000
OFUR! Al ELTAHBIEA, MAFY|,
A2 HY|, AZAIE, SAIEY )
30,000,000 %14l 30,000
Osael xsts 22| 50,000,000 %14l 50,000
O52 MA T Borat) A3
10,000,0002* 174 A 10,000
405 KHAE SH 4,000 0 4,000
01 MU SEF S| 4,000 4,000
Oxge Hal HIE 2 4,000,000 4,000
XIXHHI KA 5 242 (A EFAFRY) 200,000 400,000 200,000
[ 130,000
= 70,000
401 AlEHI 2L 20 200,000 400,000 A200,000
[ 130,000
= 70,000
01 Al&H] 198,560 397,120 198,560
OXIXHHI KA 262 EetAre
198,560,000 198,560
[ 130,000
= 68,560
03 Al CHH 1,440 2,880 AT1,440
OAIE2H] 200,000,00021%0. 72% 1,440
DIZIQEIAIE 2|2 (SYNLAILSESH) 65,000 370,000 305,000
DIZIQIEIAIE 22|2Y 65,000 370,000 305,000
401 AlEHI 2L 20 40,000 300,000 260,000
01 Al&H] 40,000 300,000 260,000
ORIZIRIEIAE 2|2 40,000
0S222E L 2RMAHBIHA) RXLS
40,000,000 40,000
405 THAE SH 25,000 70,000 245,000
01 AU SEFSH| 25,000 70,000 245,000
ORIZIREN &L 22 7Y 25,000
OCH&EZH HE )| e 3,000,000 3,000
OCHERF BXIAH A2 ¢
22,000,000 22,000
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